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Ek=1 u
7) p= 1 p=1 p=2
4) P00
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m-1

9)
D d,9=04,=0.51
4 9 9 9
d,5=0d5,=0.83
5 7 7 7
dg,=d,4=0.88
2 8 8 8
d3=05,=1.23
3 4 4 4
3 4 9
d,;=d;,=1.52
1 2 2 2
1 2 8
dgs=056=1.78
5 6 6 6
5 6 7
ds;=d;53=3.10
1 3 3 3
1 2 3 4 8 9
ds;=d;s=5.86 1 5 5 5
1 2 3 45 6 7 89
2-1)
mx m dy=min
dij G, Gy G,
dpye=min  dy dgg kzp Q) 13)
m-1)
dij Gi G

9



9x 9 D dg,=0.51
4 9 Gy Gip= G4 G
13) G, G, G3 Gg Gg G; Gg Gy
d; o=min dy, dig =min 2.19 2.62 =2.19
dy, o=min dy, d,y =min 1.47 1.66 =1.47
d3 o=min dy, d3g =min{l1.23 1.20}=1.20
ds o=min dg, dsq =min{4.77 4.84}=4.77
dg o=Min dg, dgg =min 2.99 3.06 =2.99
d; 4o=min d,, d;,g =min 4.06 3.32 =3.32
dg o=min dg, dgg =min 1.29 1.40 =1.29
G, G, G3 Gg Gy G; Gg Gy 8x 8

G, 1.52 0

Gy 3.10 2.70 0

Gs 5.86 6.02 3.64 0

Ge 4.72 4.46 1.86 1.78 0

G, 5.79 5.53 2.93 0.83 1.07 0

Gy 1.32 0.88 2.24 5.14 3.96 5.03 0

Gy 2.19 1.47 1.20 4.77 2.99 3.32 1.29 0

8x 8
ds;=0.83 Gs G Gy G={Gs G}
13) G, G, G3 G Gg Gyp Gy

< 7
G G Gz G Gg Gy Gy
G, 0
G, 1.52 0
G; 3.10 2.70 0

Gg 4.72 4.46 1.86 0
Gg 1.32 0.88 2.24 3.96 0
Gy 2-19 1.47 1.20 2.99 1.20 0
G,;; 5.79 5.53 2.93 1.07 5.03 3.32 0
= 7
d,=0.88 G, G Gy G;,= G, Gg
13) G1 G3 GG G10 Gll GlZ
6% 6



Gy 3.10 0
Gs 4.72 1.86 0

Gy 2.19 1.20 2.99 0

Gy, 5.79 2.93 1.07 3.32 0

Gy, 1.32 2.24 3.96 1.20 5.03 0

6x 6
G13 G13={Gs ©y;
Gy G3 Gyp Gpp  Gyg

5x 5
G4 Gy= Gz Gyp
G, Gl, Gy Gyg

dg 1,=1.07 Ge Gy
=6 G5 G} 13)
5x 5
Gy R CTRNCP
G, 0
Gy 3.10 O
G 2.19 1.20 O
G, 1.32 2.24 1.20 0
Gi3 4.72 1.86 2.99 3.96 O
dy 10=1.20 Gz Gio
= 63 Gy Gg) 13)
4x 4
Gy Gy Gy3
G, 0
G, 1.32 0
G5 4.72 3.96 O
G, 2.19 1.20 2.99 O
dip 141.20 G Gy
6, 6) G G G}
3x 3
G, Gz G5
G, 0
G,3 4.72 0

Gis 1.32 2.99 0

G, Gg) G Gy Go))}
2% 2
Gy3 Gy
G O

G 2.9 O

4% 4
G5 G15= Gip Gpu}=
13) Gl Gy3 Gys
3x 3
Gie G167{6; G153={C,
13) Gz Gy



drk:max{dpk qu}

Ox
G4 GQ
G1 GZ G3 GS
Gy
G, O
G, 1.52
G,  3.10
G;  5.86
Gy  4.72
G, 5.79
Gg  1.32
Gy 2.62
ds;,=0.83
14)
> 7
G1
Gy 0
Gy 1.52
Gy 3.10
Ce 4.72
Cg 1.32
Gyo 2.62
G;1  5.86
d,=0.88
14)
6x 6
Gy
Gy 0

22 )
kzp Q) 14)
9 dy,=0.51
G1o G1o={G4 Gg} 14)
G, G, Gy Gy 8x 8
G, Gy Gs Ge G; Cg G1o
0
2.70 0
6.02 3.64 0
4.46 1.86 1.78 0
5.53 2.93 0.83 1.70 O
0.88 2.24 514 3.96 5.03 O
1.66 1.23 4.84 3.06 4.06 140 O
8x 8
G G Gy G11={Gs G}
G, G, G3 Gg Gg Gy Gy
G, Gy Gg Gg G1g G11
0
2.70 0
4.46 1.86 0
0.88 2.24 3.96 0
1.66 1.23 3.06 1.40 0
6.02 3.64 1.78 5.14 4.84 0
< 7
G, Gg Gp= G, G
G, G3 Gg Gy Gy Gy
G3 Gg G1o Gyq Gy
0



Ge 472 1.86 0
G1o 2.62 1.23 3.06 O
Gy 5.86 3.64 1.78 4.84 0
Gy, 1.52 2.70 4.46 1.66 6.02 0
6x 6
d; 10=1.23 G Gy Gyg G157{G3 G10}={Cs
Gy Gg)} 14) Gy Gg Gy Gy Gyg
5% 5
Gy Ge 611 G1p C13
Gy 0
Ce 4.72 0
Gy 5.86 1.78 0
G2 1.52 4.46 6.02 0
G13 3.10 3.06 4.84 2.70 0
5% 5
dy 1,1.52 G, Gy Gy 614={G,
G1,}={G, G, Gg)} 14) G Gi1 Gz Gy
4x 4
Ge Gyq Ga Gy
Gg 0
Gyp 1.78 0
Gy 3.06 4.84 0
4x 4
dg 1,=1.78 G Gpy G5 G15={Gs G11}={Cs
Gs G} 14) Gz Gy G5
3x 3
Gy3 Gyq Gys
Gy 0
Gy 3.10 0
Gis 4.84 6.02 0
3x 3
diz 14=3.10 G135 Gy Gig Gie= Gz
Gy = Gs Gy Gg)) G, G, Gg)) 14)
Gis Gy 2% 2
G5 Gie
G5 0
Gig 6.02 0
G5 Gye
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z rlay (=12 ,p) ay./ay.
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2-14 57
X1 X2 X3 X4 X5 Xg X7 Xg
1 760 5490 1.704 2.481 30 2.785 31.8 20
2 1891 4450 2.765 4.394 30 5.833 37.0 26
3 325 5525 1.500 2.660 36 3.042 21.1 25
4 515 4760 2.750 5.320 117 4.844 30.1 98
5 513 6690 1.142 2.080 32 5.100 25.7 26
6 1570 8640 6.130 10.210 76 4.290 24.9 61
7 2210 8415 8.760 15.000 66 4.500 26.6 56
8 515 7040 1.300 1.260 13 3.500 22.2 10
9 1192 6258 8.447 30.606 286 6.500 29.1 225
10 1540 6280 5.174 11.383 82 4.070 23.3 63
11 950 8520 2.880 6.870 62 3.650 27.2 47
12 850 9460 7.480 7.790 30 4.900 11.6 24
13 1237 5937 2.046 2.993 28 2.720 29.6 19
14 553 7480 4.120 22.800 407 4.310 21.0 305
15 281 7050 3.360 8.240 83 4.190 8.20 67
16 1242 6525 3.520 7.490 51 3.790 29.2 41
17 889 7836 3.295 8.655 65 3.740 32.4 50
18 1342 5340 3.120 7.810 69 8.340 33.0 56
19 4523 4879 10.370 78.510 507 4.490 39.3 398
20 3275 6050 5.050 11.530 50 3.570 30.4 38
21 1510 5490 4.090 12.960 116 4.888 30.0 98
22 1655 5245 2.580 4.420 30 2.833 31.9 21
23 1655 5245 2.560 5.460 45 3.42 33.7 34
24 1475 4450 1.837 2.064 18 4.75 37.0 15
25 2144 4197 4.148 9.942 71 4.227 35.0 57
26 515 6650 1.050 1.260 17 5.100 27.4 14
27 834 6450 5.909 16.099 160 6.440 31.1 134
28 834 6450 5.379 10.758 110 4.630 31.1 90
29 1010 6745 4.242 13.694 109 4.430 24.6 86
30 543 6745 1.856 2.898 18 2.420 24.6 13




31 621 7099 2.273 3.863 27 4.600 24.6 21 0.278

32 1290 6745 4.924 12.993 85 4.250 27.8 69 0.947

33 955 7080 2.083 2.387 20 2.78 27.8 16 0.1930
34 885 7150 1.553 1.554 10 2.75 27.8 7 0.1290
35 847 7188 1.591 1.610 14 3.17 31.3 10 0.0940
36 798 7188 1.098 1.023 11 3.00 31.3 8 0.0645
37 1039 5961 2.727 3.295 28 5.50 29.6 24 0.2520
38 1213 5961 3.030 6.894 49 6.43 29.6 41 0.4580
39 1074 5813 2.500 2.954 30 5.33 29.6 26 0.3200
40 370 8295 1.740 2.000 21 4.33 17.8 17 0.1560
41 430 8240 2.130 2.310 14 3.75 18.9 11 0.1820
42 690 8410 1.630 1.680 12 3.25 18.9 9 0.1080
43 773 8410 2.070 2.410 18 3.83 18.9 17 0.1980
44 100 6790 0.830 1.400 25 4.40 11.4 19 0.0429
45 80 6790 0.550 0.470 10 2.75 11.4 7 0.0130
46 96 6765 0.650 0.730 15 4.00 11.4 12 0.0215
47 2490 6535 11.970 59.450 363 2.87 28.0 293 4.9300
48 1765 6575 7.350 21.760 140 3.46 26.7 114 1.9400
49 1158 6862 2.689 4.717 34 3.23 32.8 26 0.3580
50 1070 7055 2.178 3.448 26 2.70 32.8 18 0.2730
51 1495 7055 2.917 3.939 27 2.67 32.8 18 0.2995
52 1601 6949 2.803 4.205 28 3.08 32.8 21 0.3200
53 1251 5135 7.760 23.150 160 3.86 29.5 131 1.1920
54 1587 5095 6.160 17.020 119 4.71 29.9 98 1.3900
55 1230 5120 4.740 8.460 54 3.79 23.4 43 0.8110
56 1290 4960 2.040 2.800 24 6.25 37.0 21 0.1910
57 2400 4920 2.260 3.290 27 5.16 36.2 23 0.2580

Xg X7 Xg Xg
km?) 2-14 1984)

2-15



X1 X2 X3 X4 X Xg X7 Xg
X1 1.000
X2 -0.370 1.000
X3 0.619 -0.017 1.000
X4 0.657 -0.157 0.841 1.000
X5 0.474 -0.150 0.737 0.921 1.000
X6 0.074 -0.274 0.167 0.094 0.165 1.000
X7 0.607 -0.566 0.162 0.217 0.158 0.170 1.000
Xg 0.481 -0.158 0.753 0.928 0.999 0.181 0.164 1.000
Xg 0.689 0.016 0.910 0.937 0.788 0.071 0.158 0.799
1) 2-14 4)
2-15)
2)
2-16) 2-16
86.5 Z, 2, Z4
2-16
1 5.043 56.029 56.029
2 1.746 19.399 75.428
3 0.997 11.076 86.504
4 0.610 6.781 93.285
5 0.339 3.778 97.061
6 0.172 1.907 98.967
7 0.079 0.8727 99.840
8 0.014 0.1556 99.996
9 0.0004 0.0042 100.00
3) A ;=5.043 A ,=1.746 A ;=0.997
€ & X1 Xg

2-17)

2-17




Z1 Z3 Z3
X1 0.75 -0.38 -0.36 83.05
X -0.25 0.82 -0.08 73.20
X3 0.89 0.19 0.00 82.19
X4 0.97 0.14 -0.03 96.63
Xg 0.91 0.18 0.16 88.26
Xg 0.20 -0.360 0.86 89.97
X4 0.35 -0.80 -0.25 83.19
Xg 0.92 0.17 0.16 89.90
Xg 0.93 0.22 -0.10 92.16
2-17 Xq Xq
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10< Pijs 1 I j=1 2 n
i
i d . 3
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I =1
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P P
a =[x, X, X,] X; O x<s1 a X; =
i=1
a P=a 4)
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3. P
Pij T J=1 2 n)
El [13 ” E2 [13 ” E3 [13 ” 2_18
1950—1989
2-18
1950 1951 1952 1953 1954 1955 1956 1957 1958
1 2 3 4 5 6 7 8 9
E; Eq E, Es E; E; Es E, Eq
1960 1961 1962 1963 1964 1965 1966 1967 1968
11 12 13 14 15 16 17 18 19
Es Eq E, Es Eq E, Eq = Es
1970 1971 1972 1973 1974 1975 1976 1977 1978
21 22 23 24 25 26 27 28 29
Es Es = Eq Eq = E; E, Eq
1980 1981 1982 1983 1984 1985 1986 1987 1988
31 32 33 34 35 36 37 38 39
Eq E; E, Eq Eq E, E, Es Eq
2-18 15 E ) 3
E, E, 1.2 24.25 34.35) 7 E, C.
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Bayes
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R.=P E,~E, =P E, E, =.-=02000

7
P12:P El_’EZ =P E2 E1 :E:O4667

v
p21=p Ez—’El =P E1| E2 =E=0.5385

2
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8) nm 0)=[m, 0 m, 0) m, 0]
) Kk )
0 )
m 0) ) 8) k
k ) m k)
K )
1989 m 0)=[0 1 0]
1989 “ " ) 5 m 0)
8) 1990—2000
2-19)
2-19 1990—2000
1990 1991 1992
Eq E, = Eq E, Es Eq E, Es
0.5385 | 0.1528 | 0.3077 | 0.3024 | 0.4148 | 0.2837 | 0.3867 | 0.3334 | 0.2799
1994 1995 1996
E; E, = Eq E, Es E; E, Es
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1998 1999 2000
Eq E, = Eq E, Es Eq E, Es
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X9 59.26 59.26 59.26 59.26 59.26 59.26 59.26
X10 0.00 0.00 0.00 0.00 0.00 0.00 0.00
X11 1.51 2.59 1.47 1.56 2.60 2.97 1.45
X12 84.54 72.36 82.43 71.95 72.37 72.63 84.59
X13 67.06 61.60 66.16 61.60 61.60 61.60 67.10
X14 108.21 103.78 108.09 110.26 103.68 101.52 108.24
X15 19.54 21.61 22.00 22.00 22.00 22.00 22.00
X16 40.95 40.62 40.97 40.81 40.62 40.42 40.98
X17 11.08 10.35 9.91 9.66 10.16 10.04 5.85
X18 79.06 78.24 79.12 78.12 78.24 77.91 79.15
X19 80.97 80.36 81.00 80.30 80.37 102.07 81.07
X20 41.77 41.45 41.77 42.04 41.45 41.35 41.81
X21 83.70 83.36 83.71 90.17 83.36 83.20 83.74
X22 71.15 70.41 71.18 71.82 70.41 70.41 71.24
X23 65.48 64.46 65.51 65.36 64.46 64.08 65.55
X24 150.00 150.00 150.00 150.00 150.00 150.00 150.00
X25 64.88 45.53 64.88 64.88 45.01 33.62 64.88
X26 137.79 134.36 137.81 63.10 134.29 132.39 137.87
X27 318.58 317.41 318.61 316.64 317.39 316.68 318.62
X28 159.70 158.66 159.73 157.72 158.64 157.99 159.75
X29 172.54 167.65 172.53 170.69 167.53 164.79 172.58
X30 156.69 155.35 156.69 155.13 155.32 154.56 156.73
X31 70.56 70.56 70.56 70.56 70.56 70.56 70.56
X32 37.42 36.53 37.45 37.48 36.52 35.96 37.48




0.3366 0.5
0.5732 0.6
445 430 3436
3000 2. 4-7 4-8
1989
2000 11 4-10
1989 1987
4-11
4-8 2000 )
dl+ 0.000 0.000 0.000 0.000 0.000 0.000
d2 + 81.482 81.644 81.667 76.843 81.586 81.587
d3 + -164.405 -137.328 -164.602 -140.625 -137.423 -135.443
d4 + 69.211 67.514 69.345 64.944 67.445 64.208
d5 -167.484 -163.753 -158.435 -171.786 -160.241 -161.580
dé + 180.924 -179.804 -171.630 -178.153 -176.150 -176.097
d7 £ 0.000 0.000 6.961 1.294 1.958 0.614
ds8 + 0.000 0.000 0.000 0.000 0.000 0.000
do+ -20.228 0.000 8.792 4.631 5.875 8.957
d10 + 198.849 189.493 199.027 116.655 189.347 187.955
dil+ 0.000 0.000 0.000 0.000 0.000 0.000
2607 6 707
382 6.87
419.6 5.72
409.4 7.54
419.8 5.72



406 7.46
415
4-9 )

X1 -0.5 -0.5 2.29 -0.5 -0.5 -0.5
X2 3.75 6.80 8.46 8.43 8.43 8.43
X3 2.69 2.63 2.68 2.60 2.62 2.62
Xy 12.83 12.61 12.82 12.39 12.61 12.59
X5 4.93 4.77 4.92 4.84 4.76 4.71
Xg 9.12 9.09 9.13 9.09 9.09 9.21
X7 0.60 0.60 0.60 3.22 0.60 0.60
Xg 9.44 13.16 9.43 11.18 13.16 13.16
Xg 13.16 13.16 13.16 13.16 13.16 3.16
X10 -0.5 -0.5 -0.5 -0.5 -0.5 -0.5
X11 -10.5 -5.99 -10.7 -10.2 -5.96 -4.82
X12 11.48 9.91 11.22 9.86 9.92 9.95
X13 14.04 13.16 13.90 13.16 13.16 13.16
X14 9.93 9.52 9.92 10.12 9.51 9.30
X15 12.91 3.85 4.02 4.02 4.02 4.02
X16 3.06 2.98 3.06 3.03 2.98 2.94
X17 2.76 2.13 1.72 1.49 1.96 1.85
X18 2.10 2.00 2.11 2.00 2.45 1.97
X19 10.80 10.73 10.81 10.72 10.73 13.16
X20 -1.11 -1.18 -1.11 -1.05 -1.18 -1.20
Xo1 9.87 9.83 9.87 10.62 9.83 9.81
X2 7.58 7.48 7.59 7.68 7.48 7.44
X23 5.22 5.07 5.22 5.20 5.07 5.01
X4 0.20 0.20 0.20 0.20 0.20 0.20
X25 5.68 2.33 5.68 5.68 2.22 -0.45
X26 7.01 6.77 7.01 -0.32 6.76 6.62
X7 4.14 4.11 4.14 4.08 4.11 4.09
X28 9.36 9.29 9.36 9.23 9.29 9.25
Xog 4.91 4.63 4.91 4.80 4.63 4._47
X30 7.08 7.00 7.08 6.99 7.00 6.95
X31 13.16 13.16 13.16 13.16 13.16 13.16
X32 7.19 6.95 7.19 7.20 6.95 6.80




5.62

409.35 7.53
1519.5 793.56
5.53 4.58
411.3 7.58
2000
4-10 11
( ) 2607.275 2607.275 2607.275 2607.275 2607.275 2607 .27
707.626 707.788 707.811 702.987 707.730 707.72:
382.369 409.446 382.172 406.149 409.351 411.33:
419.622 417.925 419.756 415.355 417.656 418.61¢
( ) 1512.363 1516.904 1521.412 1508.061 1519.606 1518.26
788.784 789.000 798.078 791.555 793.558 793.61:
445.000 445.000 451.961 446.249 446.958 445.61:
3436.000 3436.000 3436.000 3436.000 3436.000 3436.00
619.772 649.000 657.792 653.631 654.875 657.95
686.849 677.493 687.027 604.655 677.347 675.95¢
3 141.000 141.000 141.000 141.000 141.000 141.0(

4-11 11
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.64
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.00
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.00
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.83
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6.00
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5.62
5.46
4.
6
4
3
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.37
.00
.06
.76
2.97
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.00
.03
.53
.68
.53
.58
.38
.00
.08
.71
2.97
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.00
.03
.58
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.53
.58
.36
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.69
2.97
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.00
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.53
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.45
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11 5.81 3.10 0.53 2619.8 549.9 3335.6
12 5.39 2.78 0.52 2723.0 546.6 3262.0
13 5.34 2.72 0.51 2572.9 547.6 2677.4
14 5.56 2.91 0.52 2415.5 606.6 2694.7
15 5.43 2.91 0.54 2566.6 643.7 2832.6
16 4.34 1.20 0.28 2413.1 240.0 3224 .4
17 4.19 1.63 0.39 2324.7 426.7 2088.5
18 4.91 2.38 0.48 2449.0 429.2 2239.1
19 5.22 2.73 0.52 2553.9 578.0 2415.8
20 5.39 2.63 0.49 2483.9 440.3 2371.4
21 5.08 2.58 0.51 2450.8 525.6 1938.6
22 5.27 2.70 0.51 2491.7 444 .7 2585.4
23 4.06 0.71 0.17 2552.2 304.2 2871.5
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3.84 Ce 0.82 290.6mm o 3.71 C,
1.02 C, C,
> 10
15842 C, 4.25 Ce
1.87
9-2
9-2
( )
Cr Ce

5.20-6.50 2.70-3.40

5.00-6.00 2.00-2.70

5.00 2.40
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=T

xy=

yX
X X y
X1 Xy Xy N
X, () X, (t) Xy () t=1 2 M Xj X
_ min+k max _
0=, 728 M (3
®) € (O X; X; ot ij(D= X (t)-
X](t)| ’ max = maX maX ij (t)’ min = m.in m.in |](t)1 k [O’ 1]
ij(t) min
€ (®) mlaxi (0=3
- £, ming ()=
& 0
: gk"' mng & ij(t) . k 1
lae win ©
Egl"'—; E ij(t)S 1 (2)
min:0
0.5 & ij(t)s 1 €))
€ i;=¢ ij(O (
10-1) 1 xi  xi



€ () & (O Sij  Sii
X; X
S,
9 = S 4
S;;=1x =N (4)
Y i5=Si/M ®)
14
9;~ ﬁla:iz ij(t) (6)
G ®
¢ (O
€ (O Xi  Xj ij (D Xi  Xj
A
X, ®=x(/xLi=1 2 N t=1 2 M (@
X ®=x(O/x i=1 2 N t=1 2 M ©)
8 Xi —iéM_ t
®  xi=ax
10-1 1986—1990
10-1 D) k
0.5
10-1 1986—1990
x1C )
xoC ) x3( ) x2C ) xsC )
1986 1 114230 74363 1725 29851 8291
1987 2 136236 60238 2497 62593 10908
1988 3 171242 63705 5034 85581 16922
1989 4 192819 62664 4424 97696 28035
1990 5 244187 74204 2779 135769 31435




gg 11y12y13yl4y 150 & 1 06441 05218 06702 054610

Qv 2ly 22y 23y 24y 5= 30.7533 1 05529 06177 0.5506-
R=S 31y 32y 33y 34y 35 =5%06069 05349 1 06459 05999
Ey ALy 42y 43y 44y 45+ CO7446 05033  0.6459 1 07697+
& 51y 52y 53y 54y 550 £06408 05347 06038 07752 1 9

Dy 1, =06702=maxy ; YV 5, V15 Y 1

(2)y ,4,=0.6177=maxy o;
By 34,=0.6459=maxy s;

(4)y 45=0.7697=maxy ,;



X @) xP (@) ()
xO e,
* ( 10-2 )
(xO MM,

x @) =x(® (1)+X(0) )
xP (3)=x (1) +x@ (2)+x? (3)
M

k
x® (k) =  x (t)
t=1
M

M
x®(M) =a x )
t=1

X0 =1

dx®
+ax® =u

€D a u
o
gé:(BTBleTYM

©) Yy V=[x @) x®(@3)

GM(L 1)

{xO(t)} o1
10-3 )
(€N
2)

x@an1" B



SO @@ 1
¢ 1 N
¢ -E[xm 2 +x®(3)] 17
g M M-
é } (1) (1) :
- 2[x (M- D +x7(M)] 15
@
KO(+1) = GO () - St 4 ®
3) €))
$(1)(t)
$9(0) = 87 (1) - 87 (t-1) (4)
(4) t=1 2 M $90=0
e O() q(t)
ie @) =x?(t)- (1)
! ©
.I. — E—(t) X 0, (5)
}q(t) =300 100%
€))
)—((O) :Mlté'j'l X(O) (t)
=28 O - ©)°
TvE
- (0 _L"\’A 0 < (02
€ ()_M_ltaz'z(s ()('[)-8 ())
C=s,/s;
pl € O()-¢ © 067455}
(€)) 10-2 p c
{e Q)" =2
€))

10-2



P C
0.95 0.35
0.80 0.5
0.70 0.65
< 0.70 > 0.65
( «»
70
1971—1985 G,(1 1)
X (t+1)=-4566239e0-00409t1 4584978 (6)
(6)
c=0.2993 ()
p=0.9333 « )
1988—2000 (
10-3)
( )
10-3 ( )
1988 1989 1990 1991 1992 1993 1994
17399.00 17328.00 17257.00 17186.50 17116.26 17046.80 16976.75
1995 1996 1997 1998 1999 2000
16907.25 16838.50 16769.50 16701.25 16639.00 16565.00
( ) (
)
O x9@) xO(N)} @)
& xO() <&( 2¢)
( )
¢ @ N=xx2@| xVa)s &} )

®)

(

)



p {i" }-{a} )

p={p" ) p2 ) p(n" )} (10)

GM(L 1)
17 10-4 13
< 320mm
10-4 ( mm)

() 1 2 3 4 5 6 7

x(@ M 390.6 412 320 559.2 380.8 542.4 | 553

(i) 10 11 12 13 14 15 16

x@ (i) 300 632 540 406.2 313.8 576 | 587.6

(1) GM(L 1)

xg (i )=pG @) x22@ ) x?@ ) xP@ ) x5 )
={320 310 300 3138 3185}
={x9@) x9@ x@(10) x@14) x©(17)}

p {i" }-{a}

p={p(1" ) p@ ) pB ) p& ) pG )}
={3 8 10 14 17}
GM(1 1)
p(i’ ) p(i)(i=1 2 3 4 5) p
PP (1)=p(1)=3
PP (2)=p(1)+p(2)=11
p™ (3)=p(L)+p(2)+p(3)=21
PP (D=p(1)+p(2)+p(3)+p(4)=35
PP (5)=p(1)+p(2)+p(3)+p(4)+p(5)=52
m p(t)

@
P sap =u G

o= (B'B)*BTY,, (12)

(12)




1 ..

? E[p(l) e+p? @) 1 g
8_ Y@ +p? () e
B=¢ 2 + ¢-165 L
i 8- E[p(l) (4) + p(l) (3)] 1— ¢ 28 1:
¢ ° + & 435 1

é_ E[p(l) (5) + p(l) (4)] 15

2

Yu =[P(2),p(3),p(4),p(5)]"
=[8, 10,14, 17]"
S@u L, .o & 025361y
' &H_(B B) "B Yy = 6288339}

®) \
1 =
o7 -0.25361p" =6.288339 (13)
(13)
pM (i+1)=27.677e70-25%611_24 677 )
@)
p(2)=7.999 p(2)=8 q(2)=0.125
p(3)=10.286 p(3)=10 q(3)=-2.86
p(4)=13.268 p(4)=14 q(4)=5.1
p(5)=17.099 p(5)=17 q(5)=-0.582
5.1 (14)
(€©))
i=5 i=6 (14)

p(5)=51.662 p‘®(6)=73.342
p(6)=p® (6)-p™ (5)=21.68
n=17 21.68 17 4.68



max(min)Z = CX = é C.X, Q)

i=1

1A (A)Xs (=2 b) 2
1X= 0 3)
X=[x; X X,1" C=[c; ¢, Cnl
c,(=1 2 n) A(A)
A A(A)
33A11 AlZ Aln 9
A A A -
X _¢Ta 2 2n =
AR=C M M~ @
g'B‘ml Am2 Amng
S a, 0
— caa 9y & +
A g M M M~ ©
eaml am2 amng
A [Qij aj a; & A b=[b,
b2 bm]T
AA) 8
aj [Qij Qij]
b i b (i=1 2 m)
b? ={b® (1) b® (2 b{® (N)} (6)

b®  AGO( ) b®  p® GM(1 1)



)

14

BO Kk N)

O (k)0
Q@“” )
A (A)X< E 2 (k)7
¢ M-
&59 (K)p

K N

A A A AAA
o o/ o N\

~NAANAA
(S NN

15

(7)



(12)
(13)
(14)
(15)
)

( 1980

)

(  10-5

)
1990

)

)

GM(1 1)

“MaxZ=156 . 326x,+133. 702X,+66 . 536X,+103. 616x,+51 . 808X +45X,+22
.5X,+9.839X+19 . 678X +9. 839X, +88 . 774X, +74 . 46X, +59 . 166X, 5+180X,

¢ &'
ax +a x,s 17257

i=1 i=11

3
a x,, +06x,< 81695

i=1 i=1

X, = 500

o3
a X2i +1+X8 +

13

a X, +04x,< 85875

i=11

X,= 81695 Xg= 85875
Xez= 100 X,= 150
10-5
1990 1995 2000
C ) 17257 16907.25 16565
( ) 8169.5 8486.75 8749.375
« 7)) 166.34 186.315 204
( /) 259.04 295.175 327.68
« 7)) 225 250 275
( /) 63.41 76.02 87.895
C 7)) 74.46 83.81 94.445
« 7)) 31.305 36.315 45.36
« 7)) 390.815 431.135 466.36
( /) 98.39 109.41 121.67
X5= 120 0.06x,-Xg= 0
0.06X3-X10= 0 X112 95
X2 162 X132 192.5
x14=2000 xiz0(1 1 2 14)

1995



MaxZ=172.45x,+149.052x,+74 .526X,+118.07x,+59 . 035X +50X+25X,+10 .
94x+21 88Xy +10.94x,,+106 . 43X, , +83 . 81x,,+68.. 64X, ;+230X,

8 14

A x, +a x < 16907.25 x,< 530

:él i=11 é§ %9
a x, +0.6x,< 8486.75 a X, t1+x, +a x; +04x,< 78905
i=1 i=1 i=11
X,= 848.67 X5= 789.05

Xg= 100 X7= 140

Xg= 120 0.07X,-Xg= 0
0.07X;3-X10= 0 Xy 87.5

X, 158.7 X132 183.17

X14=2500 X;2 0(1=1 2 14)
2000

MaxZ=186.54x,+163. 2x,+81 . 6x5+131.072x,+65 . 54xs+55x,+27 . 5x,+12. 1
67xg+24.334x,+12. 167x,,+123. 05X, +84 . 445X, ,+85 . 73X, ;+280X, ,

8 14
a x, +a x,< 16565, x,< 550,

i=1 i=11

8 3 13
A X, +0.6x,< 8749375 A X, +1+x, +@a X, +0.4x,,< 7265.625,

i=1 i=1 i=11

X,2 874.94 X5 726.56

Xs= 100 X;2 140

Xg= 120 0.08x,-Xg= 0

0.08%3-X10= 0 X112 80

Xq,2 150 X132 161.91

X1,=3000 X;2 0(i=1 2 14)
10-6

10 6



1990 1995 2000
() 500.00 530.00 550.00
() 6052.55 6038.08 5974.436
x3C ) 6209.50 5412 .08 4687.155
XC ) 816.95 848.67 874.94
Xs( ) 858.75 726.56
() 100.00 100.00 100.00
2C ) 150.00 140.00 140.00
Xg( ) 120.00 120.00 120.00
XC ) 363.15 422 .67 477.95
XppC ) 372.56 378.85 374.97
;1€ ) 95.00 87.00 80.00
Xp2C ) 162.00 158.70 150.00
Xiz3C ) 192.50 183.17 161.91
XiaC ) 2000.00 2500.00 3000.00

maxz( ) 1837 619.00 2174 903.00 | 2525787.00

( 391885.51 610186.06 876 9991.29
4086186.17 4451510.765 | 4731757.37
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)
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= ©)
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{u;;(ODY  GMA 1) a=[a u]'
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1
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3. | Sij
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r® A
S
5 Pi=1 2 n) 6
G S Stz Sim +
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P
. > > > .
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TR v W
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T Snl Sn2 Snm b
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@
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re = maXgl ) =max{gs’, 93’ .9’}
)
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ij
M(z)
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ulS
&
u33
@
u21

(

/kmz)

(%)

3902

549

776

0.37

0.33

0.52

7790

490

1303

0.31

0.29

0.45

8118

460

1092

0.33

0.35

0.51

)
1

Da,
(2a,
(3,
2.
(Db,
(2)b,
(3)b,
)

(Ds=(
(2)s1,7(
(3)s137(
(Bsy=(a
(5)s2=(a;
(6)s25=(a;
(Ms317(ag
(8)s3,=(ag
(9)s33=(ag
()

€))

)

)
10-7

=1092

)
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1
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1
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u® =3902 u) =549
=776 u® =7790 uf) =499 uf =1303 uf =8118 uf) =460,
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=031 u® =029 u?=045 u? =033 u? =035 u? =05L
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WX = U

Q)
)
G
el (5)
( )
G'X=U (6)
G*' G Q
Q=G!-G* 7)
GX=U+QX (8)
®) G. X
GX=U G!X=U QX
X X
G2 Y- X
10-4
)
1.
@
@)



@

)
3.
D U z
J=U-z=min €))
z
z=ZX (10)
(10)
éall Zp Zy, 9
7= ¢l Iz Zon=+

CM M M:

gan Zn2 Znnﬂ
2) G, G«

J=G!-G' =min( (11)
(11) min(s) S
©)) A, A
J=A,-A«=min (12)
1979 1983
( 10-8)
)
( ) ( 10-5)

10-8



1979 1980 1981 1982 1983
(O) 1 2 3 4 5
x90)( ) 4834 7625 | 10500 11316 17818
xP @) ) 83 131 180 195 306
xP30) ) 146 212 233 259 404
xP3) ) 251 396 545 590 926
xO@) ) 1218 1762 1941 2151 3360
10-5 Xq X, X3 X4
1. {x2@)} {x9 @0} GM(1 2 :
®e 1é8 0,93 0,0
- e X, ()+ a Xy (Dga x, (i)*
C €i=1 i U i=1 -
¢ 16g 3 T & 1485 647
o RUIOR-RIOM: PO q
X(2. 4 ¢ Zel =1 U i=1 +_ é‘ 304, 1192[]
(2 4 g 168 o 004 s & 491517820
¢ 282% (|)+ax Dga 0= € 742, 2708]
¢
1ég 5
&5 eéx<°>(u)+ax<°>(u)3éx<°>(|>—
=1 Ui=1 ]
=[x2(2) xO(@3) xg@ (4) xg°> (5)]" =[131 180 195 306]
a b
eau | 20078u
=[X(2H] " X(24)T-
@
dt2 +20078x$" = 06632 (13
s Laplace x{ x{P
i 0.3 | 1
Fhin O | 140,498 | Appiliy
2. {x9 (i)} {x @)

GM(L 2)



é@au éL9917(

S~ & 23050
X(l)
d: +19917xY = 02395xY (14)
e nas | FeW
RhE 140,498 | FHEEE
3. {(xOP®0) Xy {xP )}
GM(L 3)
® 162 ug L 8
¢- 5 & X(°>(n)+ax<°>(l>g’éx§°><o & x0 ()
g 1el°31 (0) ; o iyY I‘; O (j é X9
ga X; (|)+a X3 (|)H,a X5 (1), A& X (|)—
i=1 [ i=1 i=1
X%, 3)‘8 ad 0 g 4
¢ L@ X0 +a 17 (g d " (), A x<°>(.)
g lég © (iyJ I°;1 (0 (; ‘;r) O (i
% ga_.lxl (|)+_a X3 (')Haa_.lxz (), q.xs (')a
é- 86465 214 3580
B g 17709 394 5913
- {e- 28617 589 850U

& 43134 895 1254
=x°@ x°@) xP@) xP ()] =[7625 10500 11316 17818

a é 20399 U
b, =[X(L3"- X(L 3T X(LY- Y,=gl193953
b, 8- 0749
D
d: +20399x ¥ =119.3953x{" - 0.749x§) (15
58.93 . Xaf1d

1+0. 4495 "ﬁ’ﬁ.ﬂ

X112

FrRUTA

-0.367 | miw

1+0. 495 ’ﬂ;gﬁﬁ

( 10-6)



10-6 A, x M

(16)

u®
(9 = xP(s) 19.27(1+ 0502s)

u®(s) 012255 +0.745° + (149 - 9674 A )s+1- 1927 A,
¢ )
1. @ (s)

0.1225s°=0
0.74s* +(1.49-9.674A )s+1-19.27A , =0 (17)

- (149- 9674A )+ |/(149- 9674A,)2 - 4x 0.74(1- 1927A,)
Sz = 2x 074

(1.49-9.674A,)> 4x 0.74(1-19.27A,)

(1.49-9.674A,)% 4x 0.74(1-1927A,)

149-9674A,=0 A = =2 _0154 A, 0154

T 0 o674 2T
A,
a
oo o (149- 9674A,) 9674A,-149
- 2% 0.74 B 148

a a

a

a
T =3 41

a

2.
A,
xX® 19.27(1+ 0502s)

UP ~074< +(149- 9674A )s+1- 1027A,

(18)



0.74s%=0
. dx® ;
(149 - 9674A ) —— +(1-19.27 A )x®

dt
=19.27u 9 +9.67y © (19)
1- 19.27A
xP (1) =(x? (@ - cu® - cu® Wt +c,u? +c,u® (20)
3
e
19.27 A 1 A i =0.052
ehTs 8 1927
) ) 1
06744, 1 Ry gaog =0103
A, 0.052< A, < 0.103
A, 0.154
0.052—0.103

5.2 10.3



(System Dynamics) (Jay
W.Forre-ster) 1956
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B A
A ¥3.® B A B
A C ) C )
11-2
DYNAMO
11-3
2. DYNA MO
DYNAMO

DYNAMO



=Z= 4 O >» DO

) DYNAMO

LFVEL(  )=LEVEL( )+
DT( - (D)
11-2
L LEVEL.K=LEVEL.J+
DT (INF LOW.JK-OUTFLOW.JK)(2)

) LEVEL INFLOW OUTFLOW
DT Fo- /
J K L
K J L

DT  J K K L (  11-9)
0 (INFLOW) (OUTFLOW)
( ) ( )
R BIRTHS.KL=BRF POP.K 3)

3) BIRTHS ( / ) BRF ( /

) POP ( )
©) D YNAMO

K
LFO

A LFO.K=B LDNGS. K LPB ')
A BLDNGS.K=BIRTHS.K PBL (5)

@ (5 LFO ( / ) BLDNGS

( / ) LPB ( / ) BIRTHS
( / ) PBL ( /)
( )

3.
DYNANO

DYNAMO
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5)

(

@
€
€)
4)
2

)

130

BL®
B®
BL®

Y#a®
Yaa®

S.D.

Ba® (
Yu®

3#®

B®

BL®

)
B®

50

BL®
BL®

Y3/a®

11-



Ya® %a®

3BL® #L® Y3®
3BL®
Y3 ® BL®
3@ Y3u® #®
3.
(
)
) (
6
( 11-6 11-7 11-8 11-9 )
( )DYNAMO
DYNAMO
130
1.
/ )
100 0
DYNAMO

L WS.K=WS.J+DT YIMQWR.JK



Y IMQWR .KL=DSDW.K  EDSWR.K
UPW_K=INWS.K+DWSU. K
DSDW.K=DSDDW.K+DSDGLW.K+DSDIW.K
EDUWR . K=WS .K/UWR

N > > > 0

DYNAMO
UL.K=UL.J+DTO RDL.JK
RDL.KL=DSDUL.K EDULR.K
DSDUL .K=DSDULP .K+DSDNP . K+DSDGL . K
DULU.K=UL.K/ULU

W x> > 0

0
S 11-10
DYNAMO
L POP.K=POP.J+DT (INC JK-DBC.JK)
R INC.KL=BR.K+IM.K
R DEC.KL=DE.K+EM.K
A IM.K=POP.L IMCOE EECRIM.K ERWRIM.K ERNPIM.K
A EM_K=POP.K EMCOE EECREM.K ERWREM.K ERNP EM.K
4.
DELAY1
DELAY3 —_
S
DYNAMO

L FIX.K=FIX.J+DT*DGRINV.JK-DDEPRE.JK
R DGRINV.KL=DELAY1(GROINV.JK DEL1)
R GROINV.KL=DELAY3(DEPRE.JK DEL2)

R DDEPRE.KL=DELAY3(DEPRE.JK DEL2)

R DEPRE.KL=FIX.K*RDEPRE

A GVIOP.K=FIX.K*YPUEA



)
200km?
1989 5.74 (1980—1989
) 6. 8%o (1980—1989 )15% 1989 2107
1989 13894 21080 (80
) 34260 C ) 18 40—50
89 3.43 200
0.9
2950 ( 980 )
)
1980—1989
1990—2010 2025
1. 1980—1989 10
( ) 80—89
€)) 0.9 ( )
) ( )

A EDUWR.K=TABHL(TEDUWR DUWR.K 0 1.6 0.2)
T TEDUWR=1/1/1/1/0.7/0.01/0.2/0.5/-0.8

€))
0.2 0.35 0.45

0)) 32m? 800m*
140m®

) 86 3 8

(6) 1.333x 10%ha



) ( )
A EDULR.K=TABHL(TEDULR DULU.K 0 1.6 0.2)
T TEDULR=1/1/1/1/0.95/0.8/0.001/0/0

®) ( )
0.38 0.32 0.30
(9 0.033ha
0.006ha 0.006ha
(10) 0.16
(11) () 2.62
(12) 0.03(
)
(13) 6.8%o 15%0 (
)
(14) 0.57
(15) ( )

A B.K=TABHL(TB TIME.K 1980 1989 1)

T TB=1140/1270/1420/1600/1350/2200/2470/2950/3200/4010
1980—1989 11-1

2.

11-1 1980—1989



TIME WS INWS INWD DWSU GLWS
EOO E06 EO3 EO03 EO03 EO03
1980 4.900 1715 804 980 2217
1985 4.931 1725 1034 986 2231
1990 5.205 1821 1265 1041 2355
1983 5.551 1942 1533 1110 2511
1984 5.953 2083 1847 1190 2693
1985 6.425 2248 2223 1284 2907
1986 7.123 2493 2581 1424 3252
1987 7.672 2685 3110 1534 3503
1988 8.477 2966 3723 1695 3870
1989 9.427 3290 4355 1885 4304
TIME EIX GVIOP GROINV INDPRO
E0O E06 E06 E06 E06
1980 22.40 58.69 7.099 9.390
1981 28.83 75.53 9.136 12.084
1982 35.25 92.36 10.745 14.778
1983 42.70 111.37 12.888 17.899
1984 51.46 134.82 15.531 21.571
1985 61.94 162.28 18.695 25.966
1986 74.59 195.43 20.977 31.269
1987 89.89 235.50 19.711 37.681
1988 107.61 281.93 18.386 45.109
1989 125.86 329.74 15.331 52.759
TIME POP LF PE
E0O EO03 EO03 EO3
1980 39.800 22.686 19.649
1981 40.216 22.923 22.698
1982 41.329 23.558 24827
1983 42.637 24.303 26.687
1984 44.154 25.168 38.117
1985 47.264 26.940 28.155
1986 49.402 28.159 30.199
1987 52.084 29.688 30.470
1988 55.378 31.565 33.627
1989 59.147 33.714 31.385
TIME UL ULP ULNP LDNP GLS
E0O E02 E02 E02 E02 E02
1980 5.34 2.00 1.68 2.38 1.58
1981 5.52 2.09 1.76 2.41 1.65
1982 5.78 2.19 1.85 2.48 1.73
1983 6.13 2.33 1.96 2.55 1.84
1984 6.54 2.48 2.09 2.64 1.96
1985 7.01 2.66 2.24 2.85 2.10



2.3

1980—2010
11-2
11-2

4.7

80—89



TIME WS INWS INWSU DwSuU GLWS

EOO EO6 EO6 EO6 EO6 EO6
1980 4.90 1.71 0.80 0.98 2.21
1985 6.42 2.24 2.22 1.28 2.90
1990 10.44 3.65 4.97 2.08 4.76
1995 16.18 5.66 7.47 3.23 7.38
2000 24.23 8.48 11.20 4.84 11.06
2005 36.40 12.74 16.91 7.28 16.62
2010 54 .66 19.13 25.39 10.93 24.95
TIME FIX GVIOF GROINV INDPRO
EO0O EO6 E06 EO6 EO6
1980 22.40 58.7 7.090 9.39
1985 61.94 162.3 18.695 25.97
1990 143.64 376.3 13.959 60.21
1995 216.03 566.0 25.997 90.56
2000 326.27 854.8 37.004 136.77
2005 488.76 1280.6 56.493 204.89
2010 733.87 1922.7 84.870 307.64
) 2010 48
1989 8 42
@
1989 61m>/ 2010  40m%/
©) 1989 4010 5900 /
0) 20
®)

A PGLRW.K=TABHL(TPALRW TIME.K 1980.2010 5)

T TPGLRW=0.45/0.45/0.45/0.42/0.38/0.35/0.32

(©)

A PIRW_K=TABHL(TPIRW TIME.K 1980 2010 5)

T TPIRW=0.30/0.35/0.35/0.35/0.32/0.42/0.45/0.41
Q)

A PULP.K=TABHL(TPULP TIME.K 1980 2010 5)

T TPULP=0.30/0.30/0.30/0.315/0.33/0.345/0.36
(®)

A PGLS.K=TABHL(TPGLS TIME.K 1980 2010 5)



21

T TPGLS=0.30/0.30/0.30/0.285/0.255/0.24

(9 40
11-3
11-3
TINE WS TNWS INWD DWSU GLWS
E00 E06 E06 E03 E06
1980 4.90 1.71 0.79 980 2.21
1985 6.33 2.21 2.16 1267 2.87
1990  10.12 3.54 4.73 2025 4.63
1995  14.76 5.61 7.09 2953 6.39
2000  20.87 8.76 10.71 4175 8.35
2005  29.86 13.44 16.33 5973 11.22
2010  40.94 19.65 24.26 8189 14.37
TIME FIX GVIOP GROINV INDPRO
E00 E06 E06 E06 E06
1980 22.4 58.7 7.090 9.39
1985 61.9 162.4 18.708 25.98
1990 143.2 375.4 15.638 60.06
1995 228.0 597.6 30.574 95.61
2000 365.8 958.5 48.837 153.35
2005 583.7 1529.3 72.305 244..69
2010 900.1 2358.3 97.912 377.34
TINE POP LF PE
E00 E03 E03 E03
1980 39.80 22.69 19.65
1985 45.79 26.10 28.17
1990 62.10 35.35 35.73
1995 90.46 51.56 50.68
2000 133.02 75.82 73.16
2005 193.49 110.29 106.13
2010 274.06 156.20 152.56
TINE uL ULP ULNP LDNP GLS
E00 E02 E02 E02 E02 E02
1980 5.26 1.58 2.10 2.07 1.58
1985 7.20 2.16 2.88 3.41 2.16
1990  10.95 3.28 4.38 4.63 3.28
1995  16.28 5.13 6.51 6.75 4.64
2000  23.80 7.85 9.52 9.93 6.42
2000  35.06  12.09  14.02 14.44 8.94
2010  47.14  18.10  20.11 20.46 12.06
( 1000 ) 20



A IMCOE.K=TABHL(TIMCOE TIME.K 1980 2010 5)
T TIMCOE=0.029/0.029/0.030/0.033/0.039/0.035/0.033

0.015  1980—2010 11-4

0.9
) 2010 5600
( ) 2000
0.7 1000
11-4



TIME WS INWS DNWD DWSU GIWS
EQO E06 E06 E06 EO6 EO6
1980 4.90 1.71 0.79 0.98 2.21
1985 6.58 2.30 2.35 1.81 2.99
1990 11.43 4.00 5.32 2.28 5.23
1995 17.50 6.65 8.40 3.50 7.58
2000 26.13 10.97 13.42 5.22 10.45
2005 39.15 17.61 21.46 7.33 14.71
2010 56.94 27.33 33.37 11.38 19.98
TIME FIX GVIOP GROINV INDPRO
EOO EO6 EO6 EO6 EO6
1980 22.4 58.7 7.87 9.39
1985 67.6 177.0 21.64 28.32
1990 161.2 422 .4 19.99 67.59
1995 270.2 707.9 40.65 113.27
2000 458.3 1200.7 67.78 192.12
2005 766.7 2008.8 104.50 321.40
2010 1237.9 3243.4 153.96 518.94
TIME POP LF PE
EQO EO3 EO3 EO3
1980 39.80 22.69 19.65
1985 47.76 27.22 30.70
1990 71.36 40.67 40.21
1995 109.55 62.44 60.04
2000 169.24 96.47 91.66
2005 257.72 146.90 139.40
2010 383.95 218.85 209.82
TIME UL ULP ULNP LDNP GLS
EOO E02 E02 E02 E02 E02
1980 5.26 1.53 2.10 2.97 1.58
1985 7.45 2.23 2.98 3.56 2.23
1990 12.38 3.71 4.95 5.32 3.71
1995 19.36 6.10 7.74 8.18 5.52
2000 29.84 9.84 11.93 12.63 8.05
2005 46.02 15.87 18.40 19.24 11.73
2010 69.19 24.91 27.67 28.66 16.60
0.8 2010
2025 11-5 11-11
11-5 2015—2020

1.0378x 10%ha



8 )
11-5



TIME WS INWS INWD DWSU GLWS
=00 E06 EO6 EO6 EO6 EO6
1980 4.90 1.71 0.79 0.98 2.21
1985 6.58 2.30 2.35 1.31 2.99
1990 11.43 4.00 5.32 2.28 5.23
1995 17.50 6.65 8.40 3.50 7.58
2000 26.13 10.97 13.42 5.22 10.45
2005 39.15 17.61 21.46 7.83 14.71
2010 56.94 27.33 33.37 11.38 19.98
2015 77.22 37.07 50.39 15.44 27.10
2020 80.06 38.43 63.45 16.01 28.10
2025 80.07 38.43 60.91 16.01 28.10
TIME FIX GVIPP GROINV INDPRO
EOO EO6 EO6 EO6 EO6
1980 22.4 58.7 7.87 9.39
1985 67.6 177.0 21.64 28.32
1990 161.2 422 .4 19.99 67.59
1995 270.2 707.9 40.65 112.27
2000 458.3 1200.7 67.78 192.12
2005 766.7 2008.8 104.50 321.40
2010 1237.9 3243.4 153.96 518.94
2015 1869.2 4897.2 144.24 783.55
2020 2353.4 6165.9 9.07 986.55
2025 2259.3 5919.3 61.13 947.09
TIME POP LF PE
EQO EO3 EO3 EO3
1980 39.80 22.69 19.65
1985 47.76 27.22 30.70
1990 71.36 40.67 40.21
1995 109.55 62.44 60.04
2000 169.24 96.47 91.66
2005 257.72 146.90 139.40
2010 383.95 218.85 209.82
2015 570.99 325.47 316.81
2020 749.01 426.93 398.88
2025 812.52 463.14 382.93
TIME UL ULP ULNP LDNP GLS
EOO E02 EO3 EO3 EO3 EO3
1980 5.26 1.58 2.10 2.97 1.58
1985 7.45 2.23 2.98 3.56 2.23
1990 12.38 3.71 4.95 5.32 3.71
1995 19.36 6.10 .74 8.18 5.52
2000 29.84 9.84 11.93 12.63 8.05
2005 46.02 15.87 18.40 19.24 11.73



140m3(
380m*)

2010 27.4 2010 38.4

A IMCOE.K=TABHL(TIMCOE TIME.K 1980 2010 5)

T TIMCOE=0.021/0.021/0.021/0.024/0.030/0.026/0.024/
EMCOE=0.006

A IMCOE.K=TABHL(TIMCOE TIME.K 1980 2010 5)

T TIMCOE=0.029/0.029/0.033/0.039/0.035/0.033
CMCOE=0.015

)

@
)



€)

4)

)
@

)

€)

@

WS

uL

POP
FIX
@)

Y IMQWR
RDL
INC
DEC
GROINV
DGRINV
DEPRE
DDEPRE
®3)
DUWR
INWS
INWD
DWSU
DWDE
GLWS

(state variable)

( )

C )

)
)

(Rate variable)

~NANA
NN N
N

/



GLWD
DSDW
DSDIW
DSDDW
DSDGLW
GLRW
uPW
RUSW
URSW
QDFSW
USWIN
URIW
UWPUOP
USWGL
buLu
ULP
LOP
LDNP
ULNP
GLS
GLD
DSDULP
DSDNP
DSDGL
DSDUL
LF

PE

EC

IM

EM
RSDDW
BR

DE
RSUPL
GVIOP
RSDIW
INDPRD
INDINV
EXTINV
4)
EDUWR
EURTWU
EDULR
ERWRIM

N N\ AN
o’

~
~N
—

7))

~ANA
NN N
(N

(Table function)



ERWREM
EECRIM
EECREM
ERNPIM
ERNPEM
ERLPIN
ERSDIW
®)
UWR
PIRW
PISW
ucp
PGLRW
QUWPU
PGLSWE
WDPUGL
PDWSU
ADDWEP
ULU
PGLS
GLDPP
PULNP
LDPP
PULP
LDPUFA
BRCOE
DECOE
IMCOE
EMCOE
PLF
YPUFA
PR
PROII
DEL1
DEL2
RDEPRE

17 )

~ ™

o o/



(Wassily W.Leontief)
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12-1 12-1
q
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Qij 1 J
J i Qi
12-1 n+1
i, tdp + +0Q,, Ty, =0
Oy tdxpt *0,,TY, =0,
M M M M M
qn1+qn2+ +qm+yn:qn
Jor Tl ¥ +0on = L
12-1
1 2 n
! Qi; Qi U1, Y1 a,
? PR PV Qzn Yo q,
M M M M M M
" qnl qn2 qmn yn qn
Qo1 Y2 Qon L




é ai; i =q;(i=1 2,
=1

ay=—(j=L2 ,n

@O @
é a;,q; ty; =G (i=1 2
=1

4)

Q=[a; a, Qn]T Y=y: ¥,

®)
AQ+Y=Q

(1-A)Q=1
(€)) Il n

®)
®)
®)
Q=(1-A)tY

€) (1-m™

1-A
oy (1-A)

, )

, N)

, N)

- a1n9
- Ayt

l1-a,2

@

(2)

3

(4)

©)

(6)

@
®)
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Ynl

12-2

( )
12-2
n
Xp ¥ Xt Xty =X
XptXp+ X 1Y, =X,
M M M M M
Xn+xn2+ +Xnn+yn:Xn
ax,+y,=x(i=12 ,n (10)
=1
X
a;; =X_j(|’ i=L2, ., n (12)
(11) (10)
é a;X; +y, =X, i=14 2, ,n (12
=1
(12)
X=[X; X, Xn]T Y=[y; ¥,
12-2
— th @ # H N .
lﬁ TH D m wmre e ®e i o =
Ly BEL 11 %z Tin Ey ¥ i
& &z Epy  Epp o E; ¥z Xy
i e Fat Xy e X By ¥ i
2 A1t Cl ':2 Cn C ¥ X
ol owomm | T T v, ¥
% S myom m, m
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oy & a, 3
A= 2z ang)
=< o
é G
@nl an2 af‘nl-’:l
(12)
AX+Y=X
(1-A)=Y 13)
[1-A]Z 0
X:( | —A)_lY (14)
n
n
Xy ¥ X0+ X, +V +m =X,
Xip ¥ X0+ X, +V,+m, =X,
M M M M M M
X1n+X2n+ +Xm+Vn+mn:Xn
OrI .
%fu*%*”H:MU:LZ' , n) (15
(15)
(11) (15) Nj=Vj+m;
aax +N,=x(=12 ,n (16)
i=1
(16) a & J
i=1
& o 0
¢ aa, 0 0 -
c i=1 -
g 0 g 0 N
C= g gl e _
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G g =
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(1-C)X=N an
an [1-C]# 0
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1 2 n
12- Xll X12 Xln yl
M X21 X22 X2n y2
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an Xn2 Xnn yn
1 u u u
2 11 12 1n V\i
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12-3
3 aQ .
elxij+§luij+vj+mj=x].(1:1,2, .n) 6)
()
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(C+B)X +V+M =X (10)
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E= (;ezl € €om+
M M M M
genl en2 enmg
gpn (P P1n 9
P= c Pxn  Pa P2, +
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